<o @> (rad)

< 00, > (M)

<opp >0

o
[N

o
[N
[¢)]

< o cot(y) >
o
[N
[¢)]

o
N

OF-----beee- L /R ] Y e A St
~0.05F oo R R ~0.05F-+---bofee oo [ e Jl
L TR S S LA | HI s : e O R B LT T e

SRRt N |1 O 1 U N O SO O I T N U T A

3 -2 -1 0 1 2 3 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_ttbarPU_mkFit_5iter

—e— DQM_ttbarPU_mkFit_5iter_updatedPR111_update
—— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation

100,

'
+-

A R 20
:'ﬂ""""'

(@)

TTT [T T[T I [ TI [T T[T I [TT T[T T [ TTT[TTT
'
e
(@)

LI L L L L O L L PO L §

8
8

RatioI
RatioI

3 2 -1 0 1 2 3 09232 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

0.95

O = N W N O

...............................

T T T T [T T T I TTI T[T [T [T T T [T T T[T T[T TTTT

e —

3 e

- — .

R --i-'-

- .

-

=

==

—

2 -1 0 1 2 3
TP n (PCA to beamline)

T



	Contents
	Page 1


